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Warm Crade 7
Date:

Use the subtraction rule to subtract each of the following:
a) (+10)-(-3) b) (-16) 5 (+5)  }c) (+9)- (+3) < d) (-4) 5 (-7)
v 4 e \

v,
add oFP V 4 oPP &._/J OFP

(-\-lo) } (-\-5) ( “’)-l-(‘S) (*“% + (‘3> %) + ()
o) ((2) ) €0 | ¢
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pg. 69 #7,9,10,12,13 Homework Solutions
W(43)- (+)=+ (+{)— &3)
2T ol63)- (4D=42 L+\‘?+ (-3) = -2
&\) (-3)- (-9—) C-2)=-¢3 _
" t-‘D +(+)=-| (-2) +(4-?3 =+
i) - (a (-3) — [+4)
* (H) +H3) =+7) (4EH=]

b)) The otder in which ust

© : . :

su.L-EracE mﬁkgers IS 1Mpor
43)— ) 15 nst Bhe same

as ) —62)

a. Subtraction e.-}_uca':} ow With answer’.

a) +2 (4 4)— ) (+/0) - (+8)

b (-3)  (=8)-(-D) (- BY=(=9)
t-1) - +3)

Q+S D~ HH-08)
(+45- (-1)

d -6 L-9)— (-2) (- S)=(+)
(- - 43)
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10 69#\7’9’10(1-111‘3,\— (-1) (-3)=(+1)
o (4234 ) 23 j}(" )
+q Homework Solutions )
(,—-u-&"
(-8)— (-9 4 - UHS)
ot A
© _'.., - \

(ot

A A R =+3
¥ |
D W =~
7
c) _ =t
+5S
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pg. 69 #7,9,10,12

3 ® (_)—L‘.) *(_-\))__ (+3> — +2Homework Solutions

G >

__~

) =) - 1) =D

! D7
=
0) H-t) +14) =0

lllb%

N (D)= 1) +0
=)y + (-1 =+
2y —) — (4
“) ) 3 (- l\)-)' (- 4% ==3

Sy EH)~ ) + ()
U H-2) 4 H) =O
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10 pg. 69 #7,9,10,12,13

|K Gy) +(H) = (+3)
(H) +H) +(-3 = +2

b (+)-(+2) -1

GNHEDFH) =0
Q) (=D =) ++4)

(=3 H-DN+HH) = 0
3y (-2) (-4 )

C-2) F\ 1) =+
& W2\ —{+1) - (+Y)

D -(HVHAH) =3

$) N = (D + )

) H=2) + ) =0

Homework Solutions
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9513 Homework Soluti)ons
4D -EFHD=+| ) (4) - (-3
d * 34 + (=47

(-8)-(=1) _-E2)
@a( -4) 4+ (#) =3 < %—6 +eD="1
@y -D~1-b) @y 3 -(-7)
(_2) 3 (+Q =4 (<23) 4'("'75 =+

260 G =2\ Ly (-3)- (14
o YD =] © ) (-3) +(->D: 1

1 — dy D-(-S)
"\L-.’%- Lﬁ%\- 43 )H:L\ +#9)*7
o) L-~-2) S - - (3

F) ¥y N=H (-D+FFD=Y
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1) GBIV~ =4S aly BT (- Fyemoreon
(+7) + 3=

®

) —(36) wd) =10 = (+5)
2 N+ (Y=~ (-10) + (—9)="Is
& (-thH—t+t) ogy 1=4) - (-4)

-4+ (- =3 -+ GEH=0
ha) PO-GH Zig by (-9 —¢)

(-9 + (=9
) (D-1-3) EN—-2)
’ (-4 ¢+3DH=+ o (+4) + H-Q) =+
& - B = 9 3 w)- Y

(+)) +(+D=+
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Use the rulet for nd m nd Subtracting to answer
how all ? specially for subfraction)

m&

Show work
15)+ (-12) 6) (-14) + (2) - (+15) ==3|

=16) - (+15)
2) (+16)+ (8)= 4R) ((.ll,g) Ve

7) (+2); (+6) +(-3)=

3) (1 (7)= (1) Ly -
€+ ED ) (4_2\1.(. )+( 3)

4) (+17) +(-21)= (-
(+ ‘~I

5) (-25) - <+14>-£-3_\
(‘5)4-(\4)

8) Write an fddition statementjand the final sum for the situation.

a) What is the final temperature if the temperature was 18°C and

rose 3 degrees? (.H%).‘,.Q-z) = QZ\\
Final demp Wos 2(°¢C,

b) The populations of Mathville was 2100 and then dropped by 80
people, what is the new population? New Qor u\n..l-ion

(uod) + (B) = Goa 5 72900.

9) If you have.'6 shaded]tiles, how many unshaded tiles are

required to model -3.

©0 0000 O0QD
0o o0 00

(+6) Wﬂ < (-3)
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Class/Homework Test Oct. 4
. ¢
Start of Review TODAY 3 _ Qo
R *S\}
qdd oY
Finish from yesterday Page 73-74 #1 X 3eve
Then
.'1§

#4 %3 #8(a,K), #11(2,%), #12(a,0,%, %)

Quiz Tomorrow on Adding & Subtracting of Integers
(Rules and Models)

STUDY RULES
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Test Tuesday, Sept. 23

Day 2 of Review
Class/Homework Thursd ay

pg. 79

# 1(a,c),
#2(a,b,c,d,e),
#3(a,b,c,d),
#4(a,b,c,d) ,
#5(a,b),

#6,

#7(a,b),
#8(a,b,c,d)

10
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NEED TO DO
DIVISIBILITY

11
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ea’ll" Homework Solutions

5y +1) -(-5)
+7) H4N =412

by (-15) —(—¢)
) -1 +4g) =77
)  (-4)-<R)
EH +9) =13
by &2 —( -b)
DY+ () =48 means ¥
b -3y — (-8 more. ehee
(-D Fi) =45
A (=) —-(""f)_q q
= <an
(-5 H-4) means 0 sksm,

)= ) o
FEB)FHN\HT V] warmer

Igoduit L—lb\-’(';’-lz

Toroto

(2D —(=Y
G ) =HE
Vit H3) -7\ = +4

B MA‘HE. (grea.:LeS'L
d) ene. 1N Eemp.

12
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Q. (=)= ]
-6y +CD =717

(1) - (k)
) F L) =TT
The orcroers owe ofp 2s) e n\'rkcse’f-
A M ¢ o difference oF 2 Mges
(+&) - W\ —-D)

(-N=(=5) (O)=-(
C-IDN=C-N (- 10) =14

103 (#¢) -(+5) =4/

(+s\—H5)Y=0

(+4\ =45\ =-|
%) - s =2
42) - (G5) =3

BY 4N -Gy = +3
(‘F’\ —( 4’3\ = i
N — ) =+5
G = ) =46

N0y =*7
(FND —(-1\ =+¥
G- () =19
L — (= 2\ =+10

13
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”-6\\ o, ""2\ "'2\ -_(0_)'/()3 ‘lﬂ) R
SL,..‘:.'bf‘ooE '“'\'\
b -3, "KH,*—J», +§,+7)*_‘1.
odd Y2 eoch BEwme
C) +5, 412, ¥4 2 433 Hiy +f7
2dd Tl coch Evme. !
o2 Bt s
cukbrpet |
. W - =) =+
LY 2= W) - (-4
(-2 DN F L) =+
) (=) L(=2)—(+1)
CVNH2) FH )y =
N HeY— ) +-2) =42
e) H/oy—-42) - (-5)
F)+Es) =+

Y (-D-(H) +-3)
=D FENY ==

Homework Sheet 4.3 # 1-25
Sheet 4.4 # 1-34

Sheet 4.5 #1-16
(Even numbers only)

14



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14

